	Year
	Population (billions)

	1960
	0.667 

	1970
	0.818

	1980
	0.981

	1990
	1.13 

	2000
	1.20

	2010
	1.30

	2020
	1.35

	2030	
	1.38

	2040
	1.34

	2050
	1.27


[bookmark: _GoBack]Task: Statistics China has the biggest population in the world; statisticians have predicted what the population may reach (in red). You will create a graph showing the predicted population growth. Uses the information in the table to complete the line graph below, the first one has been done as a guide, and then complete the question below.
	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	 
	 
	 
	 
	 
	 
	 
	 
	 

	
	
	
	
	
	
	
	
	


1.45

1.40

1.35

1.30

Number of people billions
1.25

1.15
1.20

1. Why does china have such a large population?
____________________________________________________________________________________________________________________________________________________________________________
2. Why do you think China are predicting the population will fall?
______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
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